> I want to calculate monthly precipitation with ATM output variable 'tpr'.
> For example, to calculate precipitation of July, is it correct to
> calculate with 'ave(tpr,t=1,t=124)*31'?

Correct,
((((((((((((((((((
Description:     Dynamical regional climate models (RCMs) have become
widely used for studying climate processes on small scales and for
downscaling global climate model (GCM) results to finer spatial
resolution. We seek presentations for this session which will provide an
overview of the current state of the art in dynamical RCMs and will
discuss outstanding issues in the development and application of RCMs.
Contributions are solicited on topics including but not limited to
regional downscaling of climate change scenarios and seasonal
predictions; RCM intercomparison projects; applications of RCM results
in climate change impacts assessments; effects of numerical methods and
physical parameterizations on RCM accuracy; sensitivity of RCM results
to large-scale boundary data; skill of RCMs when applied to different
regions; and coupling of RCMs with other earth system models.

(((((((((((((((
To run Sulfate try the following:-

A) In the [RegCM/PreProc/Terrain]
   1- vi domain.param
   2- set you domain correctly
   3- select  'AER11D0' for Anthropogenic+Biomass, SO2 OR  'AER10D0', for       
Anthropogenic, SO2', OR, 'AER01D1',  for ( Biomass, SO2).

B)  In [RegCM/Main]
      1- vi parame
      2- set :   parameter( ntr = 2) ! for SO2 and SO4
      3- set:   parameter(nbin = 1)  ! which no use for this run but keep it

C) In your working directory:
     1- vi regcm.in
     2- set your date correctly ( idate0,idate1, idate2)
     3-  set :  ifchem  = .true.
     4-  set :  chemfrq =     6.,
     5- set:   ichem   =          1,
     6-  set :   idirect   =    1 (for no radiative feedback)
     7-  set:   chtrname  =    'SO2','SO4',
     8-  set:   chtrsol   =  0.20, 0.80,
     9-  set:   chtrdpv   = 0.00300,0.00200,0.00025,0.00025,
     10- set:    dustbsiz  =  0.01, 1.00,


Best regards

        Ashraf ---


On Tuesday 26 August 2008 10:30:48 am suxingtao@sina.com wrote:
> Dear all,
>
>
>
>
>
> Now I want to make experiment only with the
> aerosol of sulfate. I set ‘chtrname’=’SO2’,’SO4’
> and ‘chtrdpv’= ‘0.00300, 0.00200, 0.00800, 0.00200’ in ‘regcm.in’. But
> there is a message when I run ‘./regcm.x’ :

((((((((((
We invite you to contribute to the following session at the upcoming AGU Fall Meeting, 15-19 December 2008 in San Francisco.  Please note the abstract submission deadline of 10 September at 23:59 UTC.
GC13: 
Regional-Scale Forcing of Climate  (co-sponsored by Atmospheric Sciences)
Considerable effort has been devoted towards understanding and quantifying global climate forcings, including orbital variations, greenhouse gases, aerosols, and ice-albedo feedbacks. However, these studies often lack the fine-scale spatial and temporal detail needed to quantify the forcings that drive local and regional climate variability and change. Past research indicates that fine-scale processes such as land cover change and aerosol-cloud interactions can influence the surface energy balance, convective clouds, and precipitation, yet significant uncertainties in these regional forcings still exist. Short-lived atmospheric constituents also likely alter the local and regional scale climate, yet these are largely unexplored or poorly constrained. In this session, we will investigate regional climate forcings and feedbacks, including but not limited to: short-lived greenhouse gases and atmospheric aerosols, land cover change, biogeochemical feedbacks, and local and synoptic meteorological forcings. We encourage submissions that focus on regional forcings using measurement and/or modeling techniques.
Hi, Guo:

In parame file under RegCM/Main, the two parameters, nspgx and nspgx,
decide the buffer zone width.

In param.F, the array anudg (with size of kx) decides the weight
factor of the LBC forcing. If you increase the size of buffer zone,
you need also tuning this array to balance the strength of LBC forcing.

Hope it helps,
Bi Xunqiang

On Thu, 25 Sep 2008, [gb2312] guogl wrote:

> Hi
>  How to modify the value of "buffer area" when treating Lateral Boundary? Can you tell me which file I should modify? Thanks!
>
>                                                                                       GuoLong Guo
>

Hi, Highland Boy:

There are several ways of doing this thing.

Method 1:

1. after you finishing the terrrain step, you need write a small
   code to read the binary file DOMAIN.INFO, then you set the ht
   to zero then write back ht fields.

2. do the rest steps (ICBC, Run, ......)



Method 2:

1. edit terrain.f before you run the terrain step, in subroutine
   OUTPUT2, just before you write out htgrid

      write(nunitc,rec=2) ((htgrid(i,j),j=1,jx),i=1,iy)

   you need set the whole htgrid fields to zero.

2. do the rest steps (ICBC, Run, ......)


Personaly, I don't think this kind of experiment makes sense. especially
the forcing fields (from global model output) already contain the topography effect, but you can play with RegCM.

Regards,
Xunqiang Bi

On Fri, 16 Jan 2009, Highland Boy wrote:

> Dear all
> 
> I am trying to study the effect of topogrphy on rainfall by using RegCM. For
> this I want to run the model with  and without topography. But I have no
> idea as to how I will erase the topogrphy. It is said that we have to reduce
> the elevation to sea level to do it, but I don't know how....Please advise
> and Help.
> 
> Thank you all in advance...
Hi Xiaoying,

I'm not sure how to answer your first question, but I can help with the second.  As far as I understand you should pick truelatH so that about 1/5 of the domain is above truelatH and truelatL so that about 1/5 of the domain is below truelatL.  I believe that this gives the best shape for the domain and that it gives nearly equal-area grid cells.  In the past, I have used trial and error to achieve this.

I hope this helps.

-Travis-

ʩСӢ wrote:
> Hi everyone,
> I have two questions. One is how I can deal with land mask=0( lndout=0 in terrain.f). The other is how to select trulelatL and truelatH in domain.param.
>  Many thanks in advance.
>  Xiaoying

